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Mean, Median, Mode and Range frequency video Stem and leaf Diagrams =
table video T
Auera-geg and Range from a Frequency table This stem and leaf diagram shows the times, in secends, for a group of swimmers to swim 100m I
Find the median and the mad
Sum I'Jf a:” vﬂiues 20 students scored goals for the school hockey team Iw‘lh::w/ This means 9 students : : f : 1 Count the number of values; 17 Q
The table gives information about the number of goals theyScored each scored 1 gaal : 3 _\ " : . r = n OD
Number of values Goals scored Nt A e, o] DR~ e c
1 @._ 1x9=9 oo %3 - - - e m
: 2 2536 gga e J e =
E o - [+1) m
4 3 dx3=12 Dnoﬂj g 5’ The madian s 57.2 aaconids ) Lok far repeated vabies in the rows. ﬁ
' l 20 students 42 goals scored J% E % E_' i o:eeaer 8
video Middle value when numbers a8 3 3 o0
i B hE . .
are placed in order g Estimating the mean from a grouped frequency ©
Add an extra column to work out Mean from = g table Estimated ” Q
the number of goals scored frequency 8 - SMatec mean vICeo >
= =
T n = The table represents the scores of 30 students <[
MODE = E % in a Maths test: ..
% o | [T =S ™~
Most Common Mean = Total number of goals scored divided T - =
by the number of students E e S
=42 + 20 = 2.1 goals per student S et FHMLMWMMM_ —
§ 1-5 5 2 \
Mode = Most common number of goals scored gl 2 | eac cass g
_ s o
id =1 (as 9 students scored 1 goal which s = g —
video Largest value — smallest value is more than any other number of goals) S (ot Swwen ot s /ey ot s ©
wvy
£ ©
Median = The number in the middle =2 g This is only an ESTIMATE for the mean as g
E=] . .
If | wrote the goals scored by each student < | we are estimating the scores of the stu- o
Practice: as a list it would look like: © || dents by using the mid-point. L
Find the mean, median, mode and 7))
range of the following set of 1,1,1,1,1,1,1,1,1,2,2,2,3,3,3,3,3,4, 4, 4 L
Practice Question: +
numbers - ~ J M H/‘/ Q ©
9 students scored \ 3 students scored Real Ina survey, 30 small es were asked h y employees they had. This tabl E
1. 3’ 2, S, 7’ 9, 5. 4’ 10’ 2, 4. 1gca| Each 'Illll 4353'5 each SI.:::“he rSELIE'L;IF.[': AU small companes were as! oW many employees they na 15 1adle I
N - . 5 Number of employees | Frequency, f | Midpoint of class, m | mxf
Challenge Question The median is the middle number now that they are in order. = - (@)
6-10 7 i
12 6 15 'p 11-15 [} S
* Range of the number of goals scored=4-1=3 16-20 5 [ ©
) Total Total | ()
The mean of these 4 cards is 10, Calculate an estimate for the mean number of employees per company. >-

what is the missing number?
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Area
Is the inside of a shape.

Area of Rectangle = length x width
Area of Triangle =
1 .
7 % base x height

Base

Surface
The area of each Face
face added together.

Mot of a cubsa

Perimeter, Area and Volume

(Unit 8 Foundation)

VIDEOS: vas vas va9 vao v3ss

Area of a parallelogram = base x vertical height

h
v

b

Area of trapezium =% = (a + b) x iﬂ

b

To find the area of a compound shape, draw lines to split the
shape into simple shapes. Find the area of each shape separately.

Add to find the total area.

L

Perimeter

Is the distance round
the edges of the shape

I I4cm

S5cm
P = 5+4+5+4=18cm

Volume

volume = length x widthx height

=

length

The volume of a 3D solid is the amount of space it takes up.

Volume is measured in mm3, cm? or m3.

Volume of a prism = area of cross-section x length

Year 10 — Maths Foundation / Unit 8: Perimeter, Area & Vol — HT1
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Co-ordinates
These are given in the form (X,Y). We go
along the x axis and up or down the y
axis.

Y intercept
This is the point where the line

they intercept = +2

crosses the y axis. On the example |

;gg

Gradient
The steepness of a graph is called the
GRADIENT. You can find the gradient
by :
Squares up or down/

Squares across

/ iERndis cEELdAEns o S5 e LESd dEzh SRR LEs
| s | i

Parallel Lines have the same gradient but a
differenty intercept. For example a parallel line

Gradient can be positive (/)
or negative (\)

4 for the above graph would be y = 4x - 3 : .
1 ) Mid points is the point exactly in the middle. reprt:s.er:tsr':hg dlsttarlmlc_e from startltngf
Gradient + 4 To find the coordinates add the x coordinates POt Thenoreemarins represents time

together and divide by 2 and do the same for
the y coordinates.

Table of Values/ Plotting graphs
To find the coordinates of a straight line you can
use a table of values.
Firstly create a function machine

Ex 23 - K8

Then input numbers from the x axis to find the
y axis.
These create coordinates which you can then
plot onto the graph and join up with a ruler.

Yol 20 6

10 14

Y=mxX+C

GradiZ;t \Yntercept

You can use the gradient and y intercept to write an equation for a line.

Equation for above line is y = 4x+ 2

Distance time graphs
Represents a journey. The vertical axis

taken.

A horizontal line on a distance time graph
represents an object at rest.

The gradient of the line represents the
speed of the journey

-
54
4+
34
24
14

Distance (km)

0 —r—r—r—r—r—v
0 5 10 15 20 25 30 35 40 4

Time taken (minutes)

Graphs — HT1

Year 10 — Maths Foundation / Unit 9



% Exrouth Community College

Academy Trust

Reflection
Every point in the image is the same distance
from the mirror line as the original shape.

The line joining a point on the original shape
to the same point on the image is
perpendicular to the mirror line.

A reflection creates a congruent image

Translation

A translation moves a shape up, down or from
side to side and creates a congruent image.

Column vectors are used to describe translations

Mhirror line

Fan

Rotation

Rotation turns a shape around a fixed
point called the centre of rotation.

3 parts of a rotation
*  the centre of rotation

¢ the angle of rotation
*  the direction of rotation

A Rotation creates a congruent image

Enlargement
Enlarging a shape changes its size

2 parts of an enlargement
* the scale factor
* the centre of enlargement

Centre of rotation
L)
[}

A

Straight line graphs

Perpendicular — Forms a 90° angle

Similar - 2 shapes with the same angles but different length sides

4) n
freans iransiate the shape 4 squares fo the rght and J squares
[—3..| e grme M Fractional SF reduces the shape
o : ~9\ | Negative SFinverts the shape It
\ | 4 . H

[ -2 | mieans ranslats the shape 7 stjuares o Ihe el and 1 square up D 5 E ( —6 o 0

1) ‘ An enlargement creates a similar shape ABC has been enlarged by sf 3 about 0.
Linked Prior Topics Vocabulary Linked Future Topics
Shapes Object - Starting shape Transformation of functions
Scales Image - Created by a transformation Similar shapes
Angles Congruent - 2 shapes are exactly the same

Year 10 — Maths Foundation / Unit 10: Transformations — HT1




